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— — —>
—
| =N
RS-232C
@)
CN7
AF IN AF OUT | <:>
CN5 CN6 CN3
mi —
CN4 DC6 16V
CN8 CN1
LINE  TEL MOBILE DC IN
| I
ﬂl;l T— DC6 16V
888
LR
| | MOVA
SET [ P
POWER  LED fft VSER
LINE LED
ATC LED
JP2 1-2 AF IN (USER)
2-3 AF IN SET w|e | 1?2 > w <23 >
(AF IN) N USER N8l yser
- (e =19 | seT
(AF OUT)
(RS-232C)
LINE
(LINE) 1 3 5 7 9 1
(TEL) 2 9
(MOBILE) 2 4 6 8 10 10
(DC IN)
5V 5V
CN3 %
1| 10KQ 8bit
|
2 >
100Q .
16bit 2 5
O.OOll.JFI
25
ﬁ DC OUT 9 2 QI
DC IN o 10hit
10 —‘7‘”
GND




CN-3

1 3 5 7 8
AT
L [+ ] o L-] (-]
2 4 6 8 10
TK9610SI
No. No. No.
1 _ 1 . -
2 2 8 -
3 3 5 -
4 No.6 - 4 0
5 - 5
6 No.4 6
7 7
8 8
9 - 9
Hayes “pT? AT
-
" 8§ 10
RING
' AT (BUSY )
ATDnN...Nn AT
ATDPnn...n
ATDTNN...N
2 —
ATDS=r (10 31) ?T&Zr—nn...n )
|
ATDG=g (g0 3) ;—\T.Gr )
ATEn (n:0 1) o )
3 ATEO 9101# o)
ATE1 9101* T
4 ATHn (n0 1) o) =
5 ATP 9105#
ATT 9105*
AT&Pn (nl1 2) 1:10pps 2:20pps
6 AT&P1 9134# 10pps 200ps
AT&P2 9134* 20pps
ATXn (n:0 4)
BUSY ATX4 91243111
7 ATX3 91243110 ATS6
BUSY ATX2 91243101
ATX1 91243100
ATX1  ATXO
ATX0 91243000




8 10
8 ATZ ( )
AT&F
9
9991#
10 ATEW ( ) PC
11 ATSO0=n (n0 15) 90244bbbb (b2 ) o: 4
12 ATS1=n (n:0 15) 90204bbbb (b2 ) 0 4
13 ATS6=n (n:3 65) 404nnn  (n:3  65) 3
14 ATS7=n (n:1 58) 405nnn  (n:1  58) NO ANSWER 58
15 ATS8=n (n:0 255) 406nnn  (n:000 255) 0: 2
16 ATS10=n (n:0 255)><10 407nnn (n:000 255)><10 0: 1200
17 | DTMF ATS11=n (n:50 255)><1m 408nnn  (n:050 255)><1m 100ms 100ms
18 ATS30=n (n:0 255)><10 414nnn (n:000 255)><10 0: 1200
19 AT&Zr=n...n r..n 2 1
(r0 31 n ) (r00 31 n: )
AT&Zr=n...n 5rrn..n 2
20 | DTMF (r32 63 nDTMF ) (r32 63 nDTMF ) !
AT&Ln (n0 1) 0: 1
21 AT&LO 9257# 0:
AT&L1 9257* 1L
AT&Sn (n0 1) 0: 1:
22 AT&S0 9256# 0:
AT&S1 9256* 1
AT/An (0 2)
23 AT!AO 9250200 0:
ATIAL 9250201 1.
ATIA2 9250210 2: ( )
0: =0 1
1. =1 1
24 ATIGr=g (0 3190 3) 6rrg (r00 3190 3) > > 1
3 =3 1
25 ATIMO=n...n 70n..n 2 1234
26 ATIM1=n...n 7in..n 2 9999
27 AT#VLS=n (00 31) AFIN_ AR OUT !
28 ATHVMC=n
(n0 99 ALL)
29 AT#VMP=n (n:0 99) 80nn (n:00 99)
30 AT#VMR=n (n:0 99) 81nn (n:00 99)
AT#VRA=N
31 (1 255)<0.1 417nnn  (n:001 255)>0.1 25
AT#VRN=n ]
32 (n1 255)<0.1 418nnn  (n:001 255)><0.1 15.0
ATHVTS=[xy,t]
(x=Hz,y=Hz t=0.1 )
3 ATAVTS=(n,t} AT °
(n=0 9A Dt=01 ) ATSI1
AT#VTS=nn,....n
(n=0 9A D)
AT#VRX <DLE><ETX> 55
34 AT#VRX=n
(n:0  65535)><0.1 WAVE
35 ATHVTX WAVE <DLE><ETX>
36 AT#VGT=n (n:0 255) 419nnn (N0 255) 0: 251
AT#SPK=xy
(x0 31y0 15) AT 10 125
37 AT#SPK=x (x0 31) 92035bbbbb (b2 ) 12
AT#SPK=y (y.0 15) 92003bbb (b2 ) 5
AT#SPK=AUTO ON 9166*
AT#SPK=AUTO OFF 9166#
1 (AT&F)




11 15
38 ANINn  (n:1 4) (000 3FF
ANn=xy (n1 4)
(x0 3FF) PC 16
(y.0 3FF) PC 16
AN1=x 93600bbbbbbbbbb DTMF 2 (2 )
AN1=y 93720bbbbbbbbbb DTMF 2
39 AN2=x 93900bbbbbbbbbb DTMF 2 3FF,1FF
AN2=y 94020bbbbbbbbbb DTMF 2
AN3=x 94200bbbbbbbbbb DTMF 2
AN3=y 94320bbbbbbbbbb DTMF 2
AN4=x 94500bbbbbbbbbb DTMF 2
AN4=y 94620bbbbbbbbbb DTMF 2
POLARITY=x (x0 FFFF) PC MSB LSB bit
POL=x (x0 FFFF) 16
9340# 00 (LSB)
9340* H
9341# 01
9341* H
9342# 02
9342* H
9343# 03
9343* H
93444 04
9344* H
9345# 05
9345* H
9346# 06
9346* H
9347# 07
40 93a7* " 0000H
9350# 08
9350*
9351# 09
9351*
9352# 10
9352*
9353# 11
9353*
9354# 12
9354*
9355# 13
9355*
9356# 14
9356*
9357# 15(MSB)
9357*
TMs=t (s:0 15t0 255><01 ) ON OFF 1
448ttt 00 1
449ttt 01 1
450ttt 02 1
451ttt 03 1
452ttt 04 1
453ttt 05 1
454ttt 06 1
41 455ttt 07 1
456ttt 08 1
457ttt 09 1
458ttt 10 1
450ttt 11 1
460ttt 12 1
461ttt 13 1
462ttt 14 1
463ttt 15 1




1 15
7 RESET 9990#
MODE=0 929040000 00=PC
3 01= 8bit
MODE=1 929040001 OTF
MODE=2 929040010 ?Zzlsb't
MODE=3 929040011 ‘()3:
MODE=4 929040100 04=4
MODE=5 929040101 05= 8bit
MODE=6 929040110 06=16bit
43 MODE=7 929040111 07= 00 PC
MODE=8 929041000 08-4
MODE=9 929041001 09=
MODE=10 929041010 10-
MODE=11 929041011 1=
MODE=12 929041100 12=
MODE=13 929041101 13
14=TK-9610S
MODE=14 929041110 OV
15=TK-9610SI
MODE=15 929041111 OV
44 | DTMF TEL SET ON DTMF TELSETON( )
TEL SET OFF 91674 DTMF
XMODEM OFF (XM OFF) XMODEM
XMODEMON (XM ON) XMODEM
ATHVTX #VRX XMODEM SUM (XM SUM) 128byte
45 XMODEM AUTO
XMODEM CRC (XM CRC) 128byte CRC
XMODEM 1024 (XM 1024) 1024byte CRC
XMODEM AUTO (XM AUTO) XMODEM
T oN ATAVTX
46 | ATEVTX  FFT ATAVTX FFT ON
FFT OFF
BSF 0000 9001* RY-01 ON
BCF 000,0 9001# OFF
BSF 000,1 9002* RY-02 ON
BCF 000,1 9002# OFF
BSF 000,2 9003* RY-03 ON
BCF 0002 9003# OFF
BSF 0003 9004* RY-04 ON
BCF 0003 9004# OFF
47| TK-9610 BSF 0004 9005* RY-05 ON
BCF 0004 9005# OFF
BSF 0005 9006* RY-06 ON
BCF 0005 9006# OFF
BSF 0006 9007* RY-07 ON
BCF 000,6 9007# OFF
BSF 000,7 9008* RY-08 ON
BCF 000,7 9008# OFF




OK

ERROR
RING
VCON
. 0: C )
USERnN (n:0 or 1) T ( )
DELAYED
NO ANSWER ATS7
NO DIALTONE
NO CARRIER
BUSY
<DLE>0 <DLE>D
<DLE>h
<DLE>t
FULL ATHVMR
MSM7731 fail
ML2500 fail
EE-PROM falil -
FORMAT ERROR ATHVTX 8hit PCM
AT#VTX<CR> lbyte 15
XMODEM 2byte 0.4
XMODEM 2byte 0.2 1 <ACK>
ATH#VTX<CR> PC 05 off
AT#VRX<CR>
PC <ACK> 35
XMODEM PC <NAK>
AT#VRX<CR> PC 05 off




mAT

AT

ATS0=4S1=4 ATD
ATA
VCON
A ATS1 ”BUSY”
ATS10 ”NO CARRIER”
ATS30 ”NO CARRIER”
ATD (0827) 24-0081
T ATDT0827240081 -
P ATDP0827240081
w ATDW0827240081
@
NO ANSWER
!
S=r ATDS=0
G=g ATDG=1
”ATDG=0 DG=1"
D ”ATDG=ALL”
ATDG
VCON
”NO DIALTONE”
ATX3 ATS6
”BUSY”
S7 ”NO ANSWER”
VCON
VCON ”BUSY”
VCON ”NO CARRIER”
ATDG=n
ATS7
ATD ”"DELAYED”
H HO : ATH1
H1:
T ( ) ATT
P ATP
&P &P1: 10PPS AT&P2
&P2: 20PPS
VA &W ATZ
&F AT&F
&W ATE&W
Sr? r ATS0?<CR> SO
Sr=n r ATS0=4<CR> SO 4 10
AT&Z0=0827-24-1444
0 31
r=0 31
=n n
32 63
r=32 63 S8
. AT&Z0=0827241444<CR> 0827-24-1444
 AT&Z32=1234567890*#ABCD<CR>
. AT&Z3=<CR>
AF IN AT&S1
&Sn
0 VCON
1




0 2 1 ATIAL
0
1
1An
NO ANSWER
2
AT!GO=1
| . AT!GO=1<CR> 0 1
IGr=g
. AT!IG15=0<CR> 15 0
r 0 31 g 0 3
ATIM0=1234
: ATIMO=1234 0 1234
0 1
Mn 1
USERO USER1
AFIN AF OUT AT#VLS=0
bit0 1 : :
#VLS=n bit2 : AF OUT
bit3 : ‘AF IN
bit4
0 31
VP-1 0 99 AT#VMR=0
#UMR=n 55 VCON
VMC
#VMP=n #VMR 0 99 AT#VMP=0
#VMC=n #VMR 0 99 AT#VMC=ALL AT#HVMC=0
AT#VRA=25
#VRA=n
0 255 25 < | 0
AT#VRN=100
#VRN=n
0 255 100 =< . 0
t
0.200 2400Hz : 0.200 2400Hz 1 2400><100mS
: 3dB
#VTS 0 9A D*# 1 4000><100mS
0 9A D*#
ATH#HVTS=
80msec
<DLE><ETX>VCON AT#VRX
#VRX
XMODEM
* WAV #VRX AT#VRX=100
PC * WAV
#VRX=n * WAV
<DLE><ETX>VCON
XMODEM
CONNECT ATH#VTX
<DLE><ETX> 04
*
AUTX AT#VRX WAV
* WAV FORMAT ERROR
FFT OFF




#VGT=n 0 251 251 AT#VGT=251
AT#SPK=125
0 31 0 15
0 30
10 0
11 -3
12 -6
20 -30
30 -60
31
#SPK 0
1 -6
2 0
3 6
4 12
5 18
6 24
7 30
8
9 -6
10 0 8 15
11 6
12 12
13 18
14 24
15 30
AT#SPK=AUTO ON
#SPK=AUTO
ON
#SPK=AUTO OFF ON
ATSr=n
" ATS0? ATS0=4
0 15 S0=0 15 S0=0 4
ATS1? ATS1=4
s1 0 15 S1=0 15 S1=0 4
AT#SPK=AUTO ON ON
55
TAS6? ATS6=3
36 3 65 S6=3 65 3
ATX0 3
15
ATS7? ATS7=58
S7 1 58 S7=1 58 58
NO ANSWER
PBX ATS8? ATS8=2
38 0 255 S8=0 255 S8=0 2
ATD
10 ATS10? ATS10=120
0 2550 S10=0 255 S10=0 1200
ATS11? ATS11=100
S11 DTMF DTMF
50 255ms S11=50 255 100 ms
ATS30? ATS30=120
S30 DTMF
0 2550 S10=0 255 S30=0 1200
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ANIN4
0000 O3FF 10bit
ANINn ! 2
2 3
3 4
4 5
16 AN1=0266,0199
ANn=xy POLRALITY
ANNn=3FF,1FF
POL=x x:0000 FFFF POL=FFFF _ POL?
POLARITY=x CN3 bitF) 7 CN3 2. 9
8hit bit8 15
bit=0 1
0000
TMs=t s:0 15 t:0 255x0.1 TM1=10
TMs=t CN3 8bhit 16bit
RESET
TEL SET ON
TEL SET OFF
XM XMODEM AUTO
ATH#VTX AT#VRX
00H(NULL) ON AUTO
XMODEM
XMODEM
le'—zx;;(( AUTO ACK
XMODEM AUTO
XMODEM OFF XMODEM
XMODEM ON XMODEM
XMODEM SUM 128byte
XMODEM CRC 128byte CRC
XMODEM 1024 1024byte CRC
XMODEM AUTO XMODEM
n:0 15 MODE=4
MODE=n
AT#VMP=0
MODE=0 8bit
MOED=1 8bit
CN3
2 OFF - ON ATDS=0 AT#VMP=0 AT&Z32
ON - OFF ATDS=1 AT#VMP=0 AT&Z33
3 OFF - ON ATDS=2 AT#VMP=0 AT&Z34
ON - OFF ATDS=3 AT#VMP=0 AT&Z35
4 OFF - ON ATDS=4 AT#VMP=0 AT&Z36
ON - OFF ATDS=5 AT#VMP=0 AT&Z37
5 OFF - ON ATDS=6 AT#VMP=0 AT&Z38
ON - OFF ATDS=7 AT#VMP=0 AT&Z39
6 OFF - ON ATDS=8 AT#VMP=0 AT&Z40
ON - OFF ATDS=9 AT#VMP=0 AT&Z41
7 OFF - ON ATDS=10 AT#VMP=0 AT&Z42
ON - OFF ATDS=11 AT#VMP=0 AT&Z43
8 OFF - ON ATDS=12 AT#VMP=0 AT&Z44
ON - OFF ATDS=13 AT#VMP=0 AT&Z45
9 OFF - ON ATDS=14 AT#VMP=0 AT&Z46
ON - OFF ATDS=15 AT#VMP=0 AT&Z4T
2 ON- OFF ATDS=0 ATDS=1
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MODE=2 16bit
CN3 2 5 16bit
CN3 CN3
” g OFF-ON | ATDS=0 | AT#VMP=0 | AT&Z32 as OFF.ON | ATDS=16 | AT#VMP=0 | AT&Z48
ON_OFF | ATDS=1 | ATAVMP=0 | AT&Z33 ON_OFF | ATDS=17 | ATAVMP=0 | AT&Z49
a8 OFF.ON | ATDS=2 | ATAVMP=0 | AT&Z34 a6 OFF.ON | ATDS=18 | AT#VMP=0 | AT&Z50
ON_OFF | ATDS=3 | ATAVMP=0 | AT&Z35 ON_OFF | ATDS=19 | ATAVMP=0 | AT&Z51
"t OFF.ON | ATDS=4 | AT#AVMP=0 | AT&Z36 s OFF.ON | ATDS=20 | AT#VMP=0 | AT&Z52
ON_OFF | ATDS=5 | AT#AVMP=0 | AT&Z37 ON_OFF | ATDS=21 | ATAVMP=0 | AT&Z53
58 OFF.ON | ATDS=6 | AT#AVMP=0 | AT&Z38 56 OFF-ON | ATDS=22 | AT#VMP=0 | AT&Z54
ON_OFF | ATDS=7 | ATAVMP=0 | AT&Z39 ON_OFF | ATDS=23 | ATAVMP=0 | AT&Z55
) OFF.ON | ATDS=8 | AT#AVMP=0 | AT&Z40 . OFF-ON | ATDS=24 | AT#VMP=0 | AT&Z56
ON_OFF | ATDS=9 | ATAVMP=0 | AT&Z4l ON_OFF | ATDS=25 | ATAVMP=0 | AT&Z57
20 OFF-ON | ATDS=10 | AT#AVMP=0 | AT&z42 a7 OFFON | ATDS=26 | AT#VMP=0 | AT&Z58
ON_OFF | ATDS=11 | AT#AVMP=0 | AT&Z43 ON_OFF | ATDS=27 | ATAVMP=0 | AT&Z59
"o OFF.ON | ATDS=12 | AT#AVMP=0 | AT&z44 i OFFON | ATDS=28 | AT#VMP=0 | AT&Z60
ON_OFF | ATDS=13 | AT#AVMP=0 | AT&z45 ON_OFF | ATDS=29 | ATAVMP=0 | AT&Z61
50 OFF.ON | ATDS=14 | AT#AVMP=0 | AT&Z46 50 OFF.ON | ATDS=30 | AT#VMP=0 | AT&Z62
ON_OFF | ATDS=15 | AT#AVMP=0 | AT&Z47 ON_OFF | ATDS=31 | ATAVMP=0 | AT&Z63
MODE=2  MODE=6  16bit
15, 14 13,12 11,10 09,08
07,06 05,04 @ 03,02 01,00
31,30 29,28 @ 27,26 25,24
23,22 21,20 19,18 @ 17,16
MODE=3 4bit 4bit
CN3 2 5 MODE=1
CN3
20 1 _ ATDS=0 AT#VMP=0 AT&Z32
- ATDS=1 AT#VMP=0 AT&Z33
50 2 _ ATDS=2 AT#VMP=0 AT&Z34
- ATDS=3 AT#VMP=0 AT&Z35
i 3 - ATDS=4 AT#VMP=0 AT&Z36
- ATDS=5 AT#VMP=0 AT&Z37
s 4 _ ATDS=6 AT#VMP=0 AT&Z38
- ATDS=7 AT#VMP=0 AT&Z39
6 ( 1 | OFF=ON ATDS=8 AT#VMP=0 AT&Z40
ON _ OFF ATDS=9 AT#VMP=0 AT&Z41
7 2 | OFF=ON ATDS=10 AT#VMP=0 AT&Z42
ON _OFF ATDS=11 AT#VMP=0 AT&Z43
6 ( 5 | OFF=ON ATDS=12 AT#VMP=0 AT&Z44
ON _ OFF ATDS=13 AT#VMP=0 AT&Z45
o ( 4 | OFF=ON ATDS=14 AT#VMP=0 AT&Z46
ON _ OFF ATDS=15 AT#VMP=0 AT&ZAT
MODE=4
CN3 2 5 6
ATIAN
ATHVMP AT#VMP=0 AT#VMP=0
CN3 ON - OFF POLARITY
2 ( 1) - ATDG=0 AT#VMP=0 MODE=8
3( 2 - ATDG=1 AT#VMP=1
4 (3 - ATDG=2 ATHVMP=2
5( 4 ~ ATDG=3 AT#VMP=3 SET
6 ( 1) | OFF-ON ATDG=0 AT#VMP=0 SET 15
7 ( 2) | OFF-ON ATDG=1 ATAVMP=1
8 ( 3) | OFF-ON ATDG=2 ATHVMP=2 CN3 Ic CN3
9 ( 4) | OFF-ON ATDG=3 AT#VMP=3 et Q
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MODE=5 8bit MODE=1
CN3
) OFF —. ON ATDS=0 AT#VMP=10
ON - OFF ATDS=1 AT#VMP=11
3 OFF —. ON ATDS=2 ATH#VMP=12
ON - OFF ATDS=3 AT#VMP=13
. OFF —. ON ATDS=4 AT#VMP=14
ON - OFF ATDS=5 AT#VMP=15
5 OFF —. ON ATDS=6 AT#VMP=16
ON - OFF ATDS=7 AT#HVMP=17
6 OFF —. ON ATDS=8 AT#VMP=18
ON - OFF ATDS=9 AT#VMP=19
; OFF —. ON ATDS=10 AT#VMP=20
ON - OFF ATDS=11 AT#HVMP=21
8 OFF —. ON ATDS=12 AT#HVMP=22
ON - OFF ATDS=13 AT#VMP=23
9 OFF —. ON ATDS=14 AT#HVMP=24
ON - OFF ATDS=15 AT#HVMP=25
0016
MODE=6 MODE=5 MODE=2
CN3 5 16bit
CN3 CN3
,g OFF —.ON ATDS=0 AT#VMP=10 2’6 OFF —. ON ATDS=16 AT#VMP=26
ON - OFF ATDS=1 AT#VMP=11 ON_, OFF ATDS=17 ATHVMP=27
38 OFF —. ON ATDS=2 ATHVMP=12 36 OFF —. ON ATDS=18 AT#VMP=28
ON - OFF ATDS=3 AT#VMP=13 ON_, OFF ATDS=19 ATHVMP=29
g OFF —. ON ATDS=4 AT#VMP=14 46 OFF —. ON ATDS=20 AT#VMP=30
ON - OFF ATDS=5 AT#VMP=15 ON_, OFF ATDS=21 AT#VMP=31
g OFF —. ON ATDS=6 AT#VMP=16 6 OFF —. ON ATDS=22 AT#VMP=32
ON - OFF ATDS=7 ATHVMP=17 ON_, OFF ATDS=23 AT#VMP=33
g OFF —. ON ATDS=8 AT#VMP=18 7 OFF —. ON ATDS=24 AT#HVMP=34
ON - OFF ATDS=9 AT#VMP=19 ON_, OFF ATDS=25 AT#VMP=35
39 OFF —. ON ATDS=10 AT#VMP=20 37 OFF —. ON ATDS=26 AT#VMP=36
ON - OFF ATDS=11 ATHVMP=21 ON_, OFF ATDS=27 ATHVMP=37
49 OFF —. ON ATDS=12 ATHVMP=22 "7 OFF —. ON ATDS=28 AT#VMP=38
ON - OFF ATDS=13 AT#VMP=23 ON_, OFF ATDS=29 AT#VMP=39
9 OFF —. ON ATDS=14 ATHVMP=24 s OFF —. ON ATDS=30 AT#VMP=40
ON - OFF ATDS=15 AT#VMP=25 ON_, OFF ATDS=31 ATHVMP=41
MODE=7 4bit 4bit MODE=8 MODE=4
CN3 5
MODE=5
CN3 CN3
2( - ATDS=0 | ATHVMP=10 2( - ATDG=0 | AT#VMP=0
- ATDS=1 ATHVMP=11 -
- ATDS=2 ATHVMP=12 - _ -
3 ( 2) = ATDS3 ATAVNPoL3 3 ( 2) = ATDG=1 AT#VMP=1
~ ATDS=4 ATHVMP=14 - _ _
4 ( 3) = ATDSTE ATAVNPoLS 4 ( 3) = ATDG=2 ATHVMP=2
~ ATDS=6 AT#VMP=16 - _ _
sC 4 ~ ATDS=7 | ATAVMP-17 5( 9 - ATDG=3 | AT#VMP=3
OFF —. ON ATDS=8 AT#VMP=18 OFF_ON _ -
6 ( Y on-oFr ATDS=9 AT#VMP=19 6 ( Y I"on-orF ATDG=0 ATHVMP=0
OFF —. ON ATDS=10 | AT#VMP=20 OFF_ON _ -
7 2) oN-OFF ATDS=11 | AT#VMP=21 7 2 "oN-OFF ATDG=1 ATHVMP=1
OFF —. ON ATDS=12 | AT#VMP=22 OFF_ON _ ~
8 ( 9 Ton-orF ATDS=13 | AT#VMP=23 8 ( 9 "on-orF ATDG=2 ATHVMP=2
OFF —. ON ATDS=14 | AT#VMP=24 OFF_ON
9 4 9 4 ATDG=3 AT#VMP=3
( ) ON-OFF ATDS=15 | AT#VMP=25 ( ) ON-OFF
MODE=9 13
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MODE=14 RY TK-9610S|
CN3
2 ( 1) - ATDG=0 ATHVMP=0
3 ( 2) - ATDG=1 ATHVMP=1
4 3) - ATDG=2 ATHVMP=2
5 ( 4) - ATDG=3 ATHVMP=3
CN3 79 TK-9610S|
BSF0000 TK-9610SI RY ON  BCFO0000 TK-9610SI RY  OFF
BSF000,1 TK-9610SI RY ON  BCFO0001 TK-9610SI RY  OFF
BSF0002 TK-9610SI RY ON  BCFO0002 TK-9610SI RY  OFF
BSF0003 TK-9610SI RY  ON  BCFO0003 TK-9610SI RY  OFF
BSF0004 TK-9610SI RY  ON  BCFO0004 TK-9610SI RY  OFF
BSF0005 TK-9610SI RY  ON  BCFO0005 TK-9610SI RY  OFF
BSF0006 TK-9610SI RY  ON  BCFO0006 TK-9610SI RY  OFF
BSF 0007 TK-9610SI RY  ON  BCF0007 TK-9610SI RY  OFF
EE-PROM
AT W
EE-PROM
DTMF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
TK-9610SI RY  ON TK-9610SI RY  OFF
MODE=15 RY TK-9610S|
CN3
2 ( 1) - ATDG=0 ATHVMP=0
3 ( 2) - ATDG=1 ATHVMP=1
4 3) - ATDG=2 ATHVMP=2
5 ( 4) - ATDG=3 ATHVMP=3
DTMF  EE-PROM bit 9001* 9008* 9001# 9008# RY
EE-PROM byte
SET LINE
ATIMO,M1  AT&Zr EE-PROM ATSO AT&W
SRAM
ATSO
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AT#VMR=0

ATIMO,'M1 ATIALA2
-9610
AT&Z0
SET
AT#VMR=n
AT#VMC
AT#VMC=ALL<CR>
6.4KHz
ATDG=g<CR> ATDG
ATD
SET 1 CN
MODE=0
ATD ATDG=g
MODE4,8
ATD ATD
"BUSY" "NO ANSWER™
#VTX 384byte  FFT OFF 768byte 256byte 512byte RST
32mSEC 64mSEC
XMODM PC
740-0018 TEL 0827-24-0081 FAX 0827-24-1444  URL : http://www.patok.jp
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